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Assignment 7

The due date for submitting this assignment has passed. Due on 2019-09-18, 23:59 IST.

As per our records you have not submitted this assignment.
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1) Which of the following partial amino acid sequences from a protein whose gene you wish to clone would

be most useful in designing an oligonucleotide probe to screen a cDNA library?

(a) Met-Leu-Arg-Leu
(b) Met-Trp-Cys-Trp
(c)Trp-Thr-Met-Met
(d)Trp-Ser-Met-Lys

(a)
(o)
(c)
(d)

Mo, the answer is incorrect.
score: 0

Accepted Answers:

(b)

2} Reverse transcriptase requires which one of the following for the conversion of a single-strand RNA into a

double-strand DNA?

(a) all four NTPs

(b) all four dNTPs
(c) an RNA template
(d) all four dd-NTPs

(d)
Mo, the answer is incorrect.
Score: 0
Accepted Answers:

(b)

% Which of the following portions of a longer duplex DNA segment are likely to be recognition

sequences of a restriction enzyme?

(a) 5-AGTC-3' (c) 5'-ACCT-3’
3'-TCAG-% 3 -TGGA-Y
(b) 5-ATCG-3' (d) 5-ACGT-3'
3 -TAGC-% 3'-TGCA-%Y
(a)
(b)
(c)
(d)
Mo, the answer is incorrect.
acore: 0
Accepted Answers:
{d]
4]

RNA is analyzed for the location of hairpin folds. Which of the sequences below could form a mini-
hairpin?

(a) -AGGUUUCCU-3’
(b) 5-AGGUUUGGA-3’
(c) 5-AGGUUUAGG-3
(d) 5-AAAAAAAAA-T

(a)
(b)
(c)
(d)
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
(&l

3l The number of amino acid residues will be there in a peptide coded by the mRNA containing the
sequences 5-CAA GGC CCA AUG UUU GCU UCA AAA GCA UAA GCA GCA-3"

a) o
b) 6
c) 9
d) 12
(a)
(b)
()
(d)
Mo, the answer is incorrect.
acore: 0
Accepted Answers:
e)

Consider the diagram below depicting transcription process and answer the following questions 6-7:
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Which one of the following statements is TRUE?

a) The strand B is the template strand and strand C is the primer

b) The strand A is the coding strand and strand C is the primer

c) The strand A is the coding strand and strand C non-coding strand

d) The strand A is the sense strand and strand B is the anti-sense strand.

(a)
(o)
(c)
(d)

Mo, the answer is incorrect.
score: 0

Accepted Answers:

(d

7} Which one of the following statements is TRUE?

a) Xis a DNA polymerase and the direction of polymenzation is denoted by D1
b) X is a DNA polymerase and the direction of polymenzation is denoted by D2
c) Xis a RNA polymerase and the direction of polymenzation is denoted by D2
d) Xis a RNA polymerase and the direction of polymenzation is denoted by D1

(a)
(o)
(c)
(d)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:

(d)
8) Suppose you are doing a PCR to amplify the portion as indicated in RED on the following piece of DNA.
How many copies of the amplified portion of ds-DNA will you get after 10 cycles? (Appropriate primers for
amplification of the region of interest are used).

5 3
3. ] 5'
a) 2111
by 2°
c) 2°
d)y 2°
(&)
(bj
(c)
(d)
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
fc)

% Which one of the following statements about eukaryotic mRNAs is INCORRECT?

(a) They are derived from larger RNA precursors.

(b) They result from extensive processing of their primary transcripts before serving as
translation components.

(c) They usually have poly (A) tails at their 3’ ends.

(d) They have both introns and exons in matured form

(a)
(o)
(c)
(d)

Mo, the answer is incorrect.
score: 0

Accepted Answers:

(d

19" The nucleotide seguence on the sense strand of the DNA that is known to encode the carboxy terminus

of a long protein of E. coli has the following nucleotide sequence:
5-CCATGCAAAGTAATAGGT-3'. The resulting correct amino acid sequence will be
a) His-Ala-Lys
b) Pro-Cys-Lys
c) Lys-Cys-Pro
d) Lys-Ala-His

(a)
(bj
(c)
(d)
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
{a)

) The template strand of DNA known to encode the N-terminal region of an E. coli protein has the following

nucleotide sequence: 5-GTAGCGTTCCATCAGATTT-3". The sequence for the first four amino acids of
the protein will be:

a) HOOC-Met-Glu-Arg-Tyr-NH-
b) HOOC-His-Arg-Lys-Val-NH»
c) NH:-Met-His-Lys-Tyr-COOH
d) NHz-Met-Glu-Arg-Tyr-COOQH

(d)
Mo, the answer is incorrect.
Score: 0
Accepted Answers:

(@l
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